



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$2^2 - (-2) =$$

$$(-8)^0 - 7 =$$

$$(-3)^2 - 1 =$$

$$9 + (-2) =$$

$$7^3 + 6 =$$

$$9^2 - (-9) =$$

$$4^2 + 4 =$$

$$3^3 + (-3) =$$

$$(-8)^2 - 6 =$$

$$(-8) + (-6) =$$

$$8^3 + (-2) =$$

$$7^0 - 4 =$$

$$(-10)^2 + 5 =$$

$$(-7)^0 - 2 =$$

$$(-6)^0 + 6 =$$

$$(-4)^3 + (-5) =$$

$$(-5) + (-9) =$$

$$2^2 + 4 =$$

$$(-7)^3 + 3 =$$

$$(-6) - 10 =$$



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$2^2 - (-2) = 6$$

$$(-8)^0 - 7 = (-6)$$

$$(-3)^2 - 1 = 8$$

$$9 + (-2) = 7$$

$$7^3 + 6 = 349$$

$$9^2 - (-9) = 90$$

$$4^2 + 4 = 20$$

$$3^3 + (-3) = 24$$

$$(-8)^2 - 6 = 58$$

$$(-8) + (-6) = (-14)$$

$$8^3 + (-2) = 510$$

$$7^0 - 4 = (-3)$$

$$(-10)^2 + 5 = 105$$

$$(-7)^0 - 2 = (-1)$$

$$(-6)^0 + 6 = 7$$

$$(-4)^3 + (-5) = (-69)$$

$$(-5) + (-9) = (-14)$$

$$2^2 + 4 = 8$$

$$(-7)^3 + 3 = (-340)$$

$$(-6) - 10 = (-16)$$